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UFOI—RZ2RITLTHELLD 0.50s+1 0.5s5+1
from control.matlab import * Python : GEEREBESTILDER

import matplotlib.pyplot as plt
import numpy as np

tf( [DFOFRH], [HBORE] )
fig, ax = plt.subplots(figsize=(3, 2.3))

Python : 7Y IH&

y, t = step(EF/L, BRE)
apANSiE

P = tf([@, 1]; [9°5: 1])

y, t = step(P, np.arange(9, 5, 0.01))
ax.plot(t, y, color="k")

ax.set_xticks(np.linspace(@, 5, 6)) Python : 27 v T EDEHR

ax.grid(ls=":") _ . -
stepinfo(P) Info = stepinfo(EFI)
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T=20> gain, phase, w = bode(EF /L, RBR¥UK)

fig, ax = plt.subplots(2,1,figsize=(4,3.5)) T4V (f8) 8 (rad) ERE (rad/s)

P= tf([@J K], [T, 1])

gain, phase, w = bode(P, logspace(-2,2), Plot=False) ©.01 ~ 100 = logspace(-2,2)
ax[0].semilogx(w, 20*np.logl@(gain))

ax[1].semilogx(w, phase*180/np.pi) dBADZE 4 : 20*np.loglo(gain)

ax[0].grid(which="both", 1s="':") degN\DZE#L:phase*180/np.pi
ax[0].set_ylabel('Gain [dB]")

ax[1l].grid(which="both", 1s=":")

ax[1l].set xlabel('$¥omega$ [rad/s]")

ax[1].set _ylabel('Phase [deg]")
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T4 — RNV IOROHRTHREN r Y
. 1 > 21 >
from control.matlab import * P(s) = T
_ s2+s+1
P=tf([o, 1],[1, 1 ,1]) 2
C = tf([2, 10, 31,[1, 0]) —> C(s) = 2 +i03+3 Yo
Gyr = feedback(PxC, 1) » G, = feedback(X;, X))

Int(Gyr.pol
print(Gyr.pole()) minreal (P*C/(1+P*C))

Gud = —-feedback(1 ,PxC)
print(Gud.pole())

[[Np]], [[Dpl] = tfdata(P) %% . 9SEZERXD
Gyd = minreal(Pxfeedback(1l, PxC)) HNell, - Libell = tfdatalC)  frae Bis
print(Gyd.pole()) f1 = np.polyld(Np)
. . f2 = np.polyld(Nc) 1z s
#Gur = Cxfeedback(1, PxC) #4>70N\— gl = np.polyld(Dp) ZIHTUDERK
#print(Gud.pole()) g2 = np.polyld(Dc)

YEZIERODOIEZETE I D — print(np.roots(flxf2 + glxg2))
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from control.matlab import * (BRSSP EISY=<]
from matplotlib import pyplot as plt 1.25 oo oo
| 1
| 1
P = tf([o, 11,[1, 1 ,1]) 1.00 [\ 4
C = tf([2, 10, 3],[1, @]) : :
0.75 1| :
Gyr = feedback(P*C, 1) > I :
0.50 A | :
y,t = step(Gyr, np.arange(0, 10, 0.01)) | :
fig, ax = plt.subplots(figsize=(3, 2.3)) 0.25 A i i
ax.plot(t,y) I | BT RERS
ax.set xlabel('t") 0.00 - | i i s %Fﬁ
ax.set_ylabel(y") 00 25 50 7.5 10.0
ax.grid(ls=":") ‘

Info = stepinfo(Gyr, SettlingTimeThreshold=0.05)
print(Info)
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P = tf([@J 1],[1, 1 11])
C = tf([ZJ 10, 3],[1, @])
Gyr = feedback(P*C, 1)

I

=

o o
1 1

Gain [dB]

gain, phase, w = bode(Gyr, logspace(-2,2), Plot=False)

I\ R

I |
W N
o o

1 1

fig, ax = plt.subplots(2,1, figsize=(4, 3.5))
ax[0].semilogx(w, 20*np.logl@(gain)) 10-2 10!  10° 10! 102
ax[1l].semilogx(w, phase*180/np.pi) w [rad/s]

o
I

ax[0].grid(which="both", 1ls=":")
ax[0].set _ylabel('Gain [dB]")

ax[1].grid(which="both", 1ls=":") 102 10 0010t 102
ax[1l].set xlabel('$¥omega$ [rad/s]") 04

ax[1].set _ylabel('Phase [deg]"') —\\\\—”——
_50_
=100 A

fig.tight layout()
10-2 10-1 100 10! 102

w [rad/s]

|
N
o
I

Gain [dB]

Phase [deg]
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e 7 +y U 0 L
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g =9.81 # BEAMEE[m/s 2]
~_ 1=20.2 # 7—LOES[m]
. m=0.5 # 7—LOE=E[kg]
0 c = 1.5e-2 # FHIEEEIERZRE
J =1.0e-2 # BHEE-—AVF
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r € :_i y = 1
o kp ; > P P(s) Js2 + cs + mgl
C(S) = kp

Gyrle) = obr_ _ ____Fr e
YT 14+ P(s)kp Js?2 +cs+mgl + kp $% + 2(wns + w;,
_ [mgl+kp — ¢ K= kp
Wy, = 7 ¢ 2\/J(mg£+kp) mgl + kp
. —c+ +/c —4J(mgl + kp)
B 2.J

kp Z KE<<IBDE, IDEITELSRRDN, IREWICIRD
RISE EREE = B (CERETE R0 R{REDEIR
G,r(0)=K #17R2DT, FERENESD  ¥(0)=lmGy(s)
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u(t) = kpe(t) + ki /O t e(t)dt + kp—g;
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from scipy import signal
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A g = 9.81 # EHMERE[m/s"2]
e — 1=0.2 # 7— LOEEm]
fig, ax = plt.subplots(figsize=(3, 2.3)) (| m=o0.5 # 7—L0OE E[kg]
c = 1.5e-2 # MHEEZEZREY
kpe = 2.9 J = 1.0e-2 # BHE—AVE
= tf([0, kpo], [0, 1])
Gyr = feedback(Pdelay*C, 1) ref = 30
y, t = step(Gyr, np.arange(9, 2, 0.01)) P=tf([0, 1], [J, c, mkgxl])

num_delay, den_delay = pade(0.005, 1)

[maxId] = signal.argrelmax(y) Pdelay = P x tf(num_delay, den_delay)

50
ax.plot(t, y*ref, color="k")
ax.plot(t[maxId], y[maxId]*ref, 'bo') 40 - ﬁ n n n H n

30

ax.axhline(ref, color='k', linewidth=0.5)
ax.set xlim(o, 2) 20 A
ax.set ylim(o9, 50) "

ax.grid(ls=":") 0'/ V U U U V
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kp = [0, 0] fig, ax = plt.subplots(figsize=(3, 2.3))

ki = [0, 0]

kd = [0, 0] for i in range(2):

Rule = ['", ''] C = tf([kd[i], kp[il, kilill, [1, @])
Gyr = feedback(PdelayxC, 1)

TO0 = t[maxId[1]]-t[maxId[0]] y, t = step(Gyr, np.arange(@, 2, 0.01))

print('To=", T0) ax.plot(t, yxref, label=Rulelil])

print('kP0=", kp0)
ax.axhline(ref, color="k", linewidth=0.5)

# Classic ZN ax. legend()
Rule[0] = 'Classic' ax.grid(ls="':")
ki[0] = kp[0] / (0.5 % T0) —— Classic
kd[0] = kpl[@] *x (0.125 *x T0) 40 A —— No Overshoot
# No overshoot 30 -
Rule[1] = 'No Overshoot'
kp[l] = 0.2 * kpo 20 -
ki[1] = kp[1] / (0.5 x T0)
kd[1] = kp[1] * (0.33 * T0) 10 A
O 1 1 1 1

0.0 0.5 1.0 1.5 2.0



ATV T EEDHIRE

t BERDETI

a = 6.25

b = 4.36

P = tf([e, b], [1, a, @])

y, t = step(P, np.arange(0, 1, 0.01))

# HAIREERBIREBALCHEDREZ1REHTEHELTS
yslice = y[40::]
tslice = t[40::]

p = np.polyfit(tslice, yslice, 1)

fig, ax = plt.subplots(figsize=(3, 2.3))
y, t = step(P, np.arange(0, 1, 0.01))
ax.plot(t, y)

ax.plot(t, np.polyld(p)(t))

ax.set xlabel('t")

ax.set _ylabel('y")

ax.grid(ls=":")
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uref = 1 fig, ax = plt.subplots(figsize=(3, 2.3))
R = p[@]/uref for i in range(2):
L = -p[1]/ple]  y = p[O]t + p[1] C = tf([kd[i], kp[i], ki[i]], [1, e])
print(R, L) Gyr = feedback(P*C, 1)
y, t = step(Gyr, np.arange(9, 3, 0.01))
kp = [0, O] ax.plot(t, y, label=Rule[i])
ki = [0, 0]
kd = [0, 0]

Rule = ["", '"']

# P Controller
Rule[@] = 'P Controller'
kp[@0] = 1/(R*L)

# PID Controller

Rule[1] = 'PID Controller' — P Controller

kp[1] = 1.2/(R*L) ——— PID Controller
Ki[1] = kp[1] / (2 * L) 0.01, . . .
kd[1] = kp[1] * (0.5 * L) 0 1 2 3
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1 mgl c+ kp kp\ o
=14 —= — mal=-L£
O 3+( ke k%)s
J kp(c-l-kD) k%; 3
_ /—P
+ (kI k% + mg k? s +
1 2 1
=1+ —Cs + —
M(s) Wn W |
1mport sympy as sp
) z, wn = sp.symbols('zeta omega n')
3RDIBFXRT—H=EDIT1> kp, kd, ki = sp.symbols('k_p k_d k_i')
mgl,c,J) = sp.symbols('mgl c J")
kp = wﬁJ ky = wpmgl sp.init_printing()
24‘ f1 =m i-2%
= mgl/ki-2*z/wn
77%93 2 = (c+kd)/ki-mgl*kp/(ki**2)-1/(wn**2)
k]_) = 2(wnJ+ —C 3 = J/ki-kp*(c+kd)/(ki**2)+mgl*kp**2/(ki**3)

2(wn, sp.solve([fl, f2, f3],[kp, kd, ki])
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9.81 # EHNIHEE[m/s"2]
0.2 # 7—LOES[m]

0.5 # 7—LOE=[kg]
1.5e-2 # FHYEEEIRRE
1.0e-

e-2 # BEMHEE-—AVF

a N S 0
]

omega n = 5
zeta = 0.707
M = tf([0,omega_n**2],[1,2*zeta*omega_n,omega_n**27])

kP = omega_n**2%*]
kI = omega n*m*g*l/(2*zeta)
kD = 2*zeta*omega n*J + m*g*l/(2*zeta*omega n) - ¢

T = tf([kP,kI],[J, c+kD, m*g*1l+kP, kI])

yM, tM
yT, tT

step(M, np.arange(9, 5, 0.01))
step(T, np.arange(9, 5, 0.01))

fig, ax = plt.subplots(figsize=(3, 2.3))
ax.plot(tM, yM, label="M"', 1ls = '-.")
ax.plot(tT, yT, label="T")

ax.legend()

ax.grid()
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